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Oi@jective "unction

A system of linear inec]ualitics has many solutions.
Dcpcncling on the situation, some of these solutions
(usua”g one) are better than the others and will be called
the optima] solution . What determines

this optimal solution is the objective function or

objf:ctive rule |
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Examplc:

A Farmergrows cherries & raspberries on a Piece of
land that is at most 10A@ i area. " ach hectare of
cherries rec]uires S dags of work and each hectare of
raspberries) 3 c!ags of work. ] he farmer has no more
than 00 claﬂs available. e decides that the space for
raspberries will be at most 3 times the amount of space
for cherries. [~ ach hectare of cherries and rasperrics
Procluces revenues of $3000 ;4 $5000 respectivclg.
What is the

revenue the Farmer can earn?
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A Farmergrows cherries & raspbcrries on a Piece of

\/a rigblCS: ) land that is atmast 16ha i, srea. Each hectare of
,x ’ );f}\d, 7 WVH.CS . cherries requires 5 clags of work and each hectare of
g. ‘ O$ ha y f‘asfberhe,s raspbcrries, 3 dags of work. Thc farmer has nQumore

Constra iﬂtS: than 60 dags avai]aBleJrﬂe;{ecides that the space for
rasterries will be at most_ 2 times the amount of space

x> Vo4 o
20 x4 -/ for cherries. [ ach hectare of cherries and raspbcrrics
Y>%0 Sx+ 3y £60
£ 3%

Produccs revenues of $3000 and $5000 resPcctivclg.
‘_/\/\__J\’_L—\\/ \/\/hat is the W revenue the farmer can eam?‘]

T he farmer's objective is to make the maximum revenue

Possible givcn the constraints.

T he objective rule forthis farmeris R=3000x+5000x
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The optimal solutions (maximum or minimum) occur on
the bounc}arg of the solution set and usua”g occur

onlg at the vertices .

q /\\'\e M aX \:muw cevent S $7—2 o0 |
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Solving Optimisation FProblems

i. Define the variables.

2. | istthe constraints.

5. \Write the objective function.

4. Graph the Po]ggon of constraints.

5. Determine the coordinates of the vertices of
the Polggon.

6. ]&cnthcg the o!:)timal solution - the maximum or

minimum that solve the Problcm.
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Example:
Joan wants to give at least 12 chocolates to her
children at [~ aster. She intends to buy at least twice
as many dark chocolates as milk chocolates, but no
more than 20 dark chocolates.
One milk chocolate costs $2.00 and one dark
chocolate costs $4'OO.

Fow many of ecach type of chocolate should Joan

bug in order to minimise her costs 7
o> A A Apob
7. -\Aﬁ ™. (',\r\v(/



	Page 1: May 16-10:11 PM
	Page 2: May 16-10:38 PM
	Page 3: Aug 28-2:02 PM
	Page 4: May 16-10:44 PM
	Page 5: Aug 28-2:23 PM
	Page 6: Aug 28-2:28 PM
	Page 7: May 22-10:04 AM
	Page 8: May 16-11:02 PM

